# Explicit formulas for computing Bernoulli numbers of the second kind and Stirling numbers of the first kind 

Feng $\mathbf{Q i}^{\text {a }}$<br>${ }^{a}$ College of Mathematics, Inner Mongolia University for Nationalities, Tongliao City, Inner Mongolia Autonomous Region, 028043, China


#### Abstract

In the paper, by establishing a new and explicit formula for computing the $n$-th derivative of the reciprocal of the logarithmic function, the author presents new and explicit formulas for calculating Bernoulli numbers of the second kind and Stirling numbers of the first kind. As consequences of these formulas, a recursion for Stirling numbers of the first kind and a new representation of the reciprocal of the factorial $n$ ! are derived. Finally, the author finds several identities and integral representations relating to Stirling numbers of the first kind.


## 1. Introduction

It is general knowledge that the $n$-th derivative of the logarithmic function $\ln x$ for $x>0$ is

$$
\begin{equation*}
(\ln x)^{(n)}=(-1)^{n-1} \frac{(n-1)!}{x^{n}} \tag{1.1}
\end{equation*}
$$

for $n \in \mathbb{N}$, where $\mathbb{N}$ denotes the set of all positive integers. One may ask a question: What is the formula for the $n$-th derivative of the reciprocal of the logarithmic function $\ln x$ ? There have been some literature to deal with this question. For example, Lemma 2 in [7] reads that for any $m \geq 0$ we have

$$
\begin{equation*}
\left[\frac{1}{\ln (1+t)}\right]^{(m)}=\frac{1}{(1+t)^{m}} \sum_{i=0}^{m}(-1)^{i} i!\frac{s(m, i)}{[\ln (1+t)]^{i+1}} \tag{1.2}
\end{equation*}
$$

where $s(n, k)$ are Stirling numbers of the first kind, which may be generated by

$$
\begin{equation*}
\frac{[\ln (1+x)]^{m}}{m!}=\sum_{k=m}^{\infty} \frac{s(k, m)}{k!} x^{k}, \quad|x|<1 \tag{1.3}
\end{equation*}
$$

The first aim of this paper is to establish a new and explicit formula for computing the $n$-th derivative of the reciprocal of the logarithmic function. As consequences of this formula, a recursion for Stirling numbers of the first kind and a new representation of the reciprocal of the factorial $n!$ are derived.

[^0]The Bernoulli numbers $b_{0}, b_{1}, b_{2}, \ldots, b_{n}, \ldots$ of the second kind may be defined by

$$
\begin{equation*}
\frac{x}{\ln (1+x)}=\sum_{n=0}^{\infty} b_{n} x^{n} \tag{1.4}
\end{equation*}
$$

The first few Bernoulli numbers $b_{n}$ of the second kind are

$$
b_{0}=1, \quad b_{1}=\frac{1}{2}, \quad b_{2}=-\frac{1}{12}, \quad b_{3}=\frac{1}{24}, \quad b_{4}=-\frac{19}{720}, \quad b_{5}=\frac{3}{160} .
$$

For more information, please refer to $[5,6]$ and closely related references therein. By the way, we note that the so-called Cauchy number of the first kind may be defined by $n!b_{n}$. See [2, 7] and plenty of references cited therein. One may also ask a natural question: Can one discover an explicit formula for computing $b_{n}$ for $n \in \mathbb{N}$ ? There have been several formulas and recurrence relations for computing $b_{n}$. For example, it is derived in [8] that

$$
\begin{equation*}
b_{n}=\frac{1}{n!} \sum_{k=0}^{n} \frac{s(n, k)}{k+1} \tag{1.5}
\end{equation*}
$$

where $s(n, k)$ may also be generated by

$$
\begin{equation*}
\prod_{k=0}^{n-1}(x-k)=\sum_{k=0}^{n} s(n, k) x^{k} \tag{1.6}
\end{equation*}
$$

We remark that two definitions of $s(n, k)$ by (1.3) and (1.6) are coincident.
The second aim is to derive a new and explicit formula for calculating Bernoulli numbers $b_{n}$ of the second kind.

Finally, we will find several identities and integral representations relating to Stirling numbers of the first kind $s(n, k)$.

## 2. Explicit formula for derivatives of the logarithmic function

In this section, we establish a new and explicit formula for computing the $n$-th derivative of the reciprocal of the logarithmic function, which will be applied in next section to derive an explicit formula for calculating Bernoulli numbers of the second kind.

Theorem 2.1. For $n \in \mathbb{N}$, we have

$$
\begin{equation*}
\left(\frac{1}{\ln x}\right)^{(n)}=\frac{(-1)^{n}}{x^{n}} \sum_{i=2}^{n+1} \frac{a_{n, i}}{(\ln x)^{i}} \tag{2.1}
\end{equation*}
$$

where

$$
\begin{equation*}
a_{n, 2}=(n-1)! \tag{2.2}
\end{equation*}
$$

and, for $n+1 \geq i \geq 3$,

$$
\begin{equation*}
a_{n, i}=(i-1)!(n-1)!\sum_{\ell_{1}=1}^{n-1} \frac{1}{\ell_{1}} \sum_{\ell_{2}=1}^{\ell_{1}-1} \frac{1}{\ell_{2}} \cdots \sum_{\ell_{i-3}=1}^{\ell_{i-4}-1} \frac{1}{\ell_{i-3}} \sum_{\ell_{i-2}=1}^{\ell_{i-3}-1} \frac{1}{\ell_{i-2}} \tag{2.3}
\end{equation*}
$$

Proof. An easy differentiation gives

$$
\begin{aligned}
\left(\frac{1}{\ln x}\right)^{(n+1)} & =\left[\left(\frac{1}{\ln x}\right)^{(n)}\right]^{\prime} \\
& =\left[\frac{(-1)^{n}}{x^{n}} \sum_{i=2}^{n+1} \frac{a_{n, i}}{(\ln x)^{i}}\right]^{\prime} \\
& =(-1)^{n} \sum_{i=2}^{n+1} a_{n, i}\left[\frac{1}{x^{n}(\ln x)^{i}}\right]^{\prime} \\
& =\frac{(-1)^{n+1}}{x^{n+1}} \sum_{i=2}^{n+1} a_{n, i} \frac{i+n \ln x}{(\ln x)^{i+1}} \\
& =\frac{(-1)^{n+1}}{x^{n+1}}\left[\sum_{i=2}^{n+1} \frac{i a_{n, i}}{(\ln x)^{i+1}}+\sum_{i=2}^{n+1} \frac{n a_{n, i}}{(\ln x)^{i}}\right] \\
& =\frac{(-1)^{n+1}}{x^{n+1}}\left[\sum_{i=3}^{n+2} \frac{(i-1) a_{n, i-1}}{(\ln x)^{i}}+\sum_{i=2}^{n+1} \frac{n a_{n, i}}{(\ln x)^{i}}\right] \\
& =\frac{(-1)^{n+1}}{x^{n+1}}\left[\frac{n a_{n, 2}}{(\ln x)^{2}}+\sum_{i=3}^{n+1} \frac{(i-1) a_{n, i-1}+n a_{n, i}}{(\ln x)^{i}}+\frac{(n+1) a_{n, n+1}}{(\ln x)^{n+2}}\right]
\end{aligned}
$$

Equating coefficients of $(\ln x)^{i}$ for $2 \leq i \leq n+2$ on both sides of

$$
\frac{(-1)^{n+1}}{x^{n+1}} \sum_{i=2}^{n+2} \frac{a_{n+1, i}}{(\ln x)^{i}}=\frac{(-1)^{n+1}}{x^{n+1}}\left[\frac{n a_{n, 2}}{(\ln x)^{2}}+\sum_{i=3}^{n+1} \frac{(i-1) a_{n, i-1}+n a_{n, i}}{(\ln x)^{i}}+\frac{(n+1) a_{n, n+1}}{(\ln x)^{n+2}}\right]
$$

yields the recursion formulas of the coefficients $a_{n, i}$ satisfying

$$
\begin{align*}
a_{n+1,2} & =n a_{n, 2}  \tag{2.4}\\
a_{n+1, n+2} & =(n+1) a_{n, n+1} \tag{2.5}
\end{align*}
$$

and

$$
\begin{equation*}
a_{n+1, i}=(i-1) a_{n, i-1}+n a_{n, i} \tag{2.6}
\end{equation*}
$$

for $3 \leq i \leq n+1$.
From

$$
\left(\frac{1}{\ln x}\right)^{\prime}=-\frac{1}{x(\ln x)^{2}}
$$

it follows that

$$
\begin{equation*}
a_{1,2}=1 \tag{2.7}
\end{equation*}
$$

Combining (2.7) with (2.4) and (2.5) respectively results in (2.2) and

$$
\begin{equation*}
a_{n, n+1}=n!. \tag{2.8}
\end{equation*}
$$

Letting $i=3$ in (2.6) and using (2.2) produce

$$
\begin{equation*}
a_{n+1,3}=2 a_{n, 2}+n a_{n, 3}=2(n-1)!+n a_{n, 3} \tag{2.9}
\end{equation*}
$$

for $n \geq 2$. Utilizing (2.8) for $n=2$ as an initial value and recurring (2.9) figure out

$$
\begin{equation*}
a_{n, 3}=2!(n-1)!\sum_{k=1}^{n-1} \frac{1}{k} \tag{2.10}
\end{equation*}
$$

for $n \geq 2$.
Taking $i=4$ in (2.6) and employing (2.10) give

$$
\begin{equation*}
a_{n+1,4}=3 a_{n, 3}+n a_{n, 4}=3 \times 2(n-1)!\sum_{k=1}^{n-1} \frac{1}{k}+n a_{n, 4} \tag{2.11}
\end{equation*}
$$

for $n \geq 3$. Making use of (2.8) for $n=3$ as an initial value and recurring (2.11) reveal

$$
\begin{equation*}
a_{n, 4}=3!(n-1)!\sum_{i=1}^{n-1} \frac{1}{i} \sum_{k=1}^{i-1} \frac{1}{k} \tag{2.12}
\end{equation*}
$$

for $n \geq 3$.
By similar arguments to the deduction of (2.10) and (2.12), we have

$$
\begin{equation*}
a_{n, 5}=4!(n-1)!\sum_{j=1}^{n-1} \frac{1}{j} \sum_{i=1}^{j-1} \frac{1}{i} \sum_{k=1}^{i-1} \frac{1}{k} \tag{2.13}
\end{equation*}
$$

for $n \geq 4$ and

$$
\begin{equation*}
a_{n, 6}=5!(n-1)!\sum_{\ell=1}^{n-1} \frac{1}{\ell} \sum_{j=1}^{\ell-1} \frac{1}{j} \sum_{i=1}^{j-1} \frac{1}{i} \sum_{k=1}^{i-1} \frac{1}{k} \tag{2.14}
\end{equation*}
$$

for $n \geq 5$.
From (2.10), (2.12), (2.13), and (2.14), we inductively conclude the formula (2.3). The proof of Theorem 2.1 is thus completed.

Corollary 2.1. The coefficients $a_{n, i}$ in (2.1) satisfies the recursion (2.6) for $3 \leq i \leq n+1$.
Proof. This follows from the proof of Theorem 2.1.
Corollary 2.2. For $n \in \mathbb{N}$, the factorial $n$ ! meets

$$
\begin{equation*}
\frac{1}{n!}=\sum_{\ell_{1}=1}^{n} \frac{1}{\ell_{1}} \sum_{\ell_{2}=1}^{\ell_{1}-1} \frac{1}{\ell_{2}} \cdots \sum_{\ell_{n-1}=1}^{\ell_{n-2}-1} \frac{1}{\ell_{n-1}} \sum_{\ell_{n}=1}^{\ell_{n-1}-1} \frac{1}{\ell_{n}} \tag{2.15}
\end{equation*}
$$

Proof. This follows from combining (2.3) and (2.8) and simplifying.
Corollary 2.3. Stirling numbers of the first kind $s(n, i)$ for $1 \leq i \leq n$ may be computed by

$$
\begin{equation*}
s(n, i)=(-1)^{n+i}(n-1)!\sum_{\ell_{1}=1}^{n-1} \frac{1}{\ell_{1}} \sum_{\ell_{2}=1}^{\ell_{1}-1} \frac{1}{\ell_{2}} \cdots \sum_{\ell_{i-2}=1}^{\ell_{i-3}-1} \frac{1}{\ell_{i-2}} \sum_{\ell_{i-1}=1}^{\ell_{i-2}-1} \frac{1}{\ell_{i-1}} . \tag{2.16}
\end{equation*}
$$

Proof. This is a direct consequence of comparing the formulas (1.2) and (2.1) and rearranging.
Corollary 2.4. For $1 \leq i \leq n$, Stirling numbers of the first kind $s(n, i)$ satisfies the recursion

$$
\begin{equation*}
s(n+1, i)=s(n, i-1)-n s(n, i) . \tag{2.17}
\end{equation*}
$$

Proof. Comparing formulas (1.2) and (2.1) reveals that

$$
\begin{equation*}
a_{n, i}=(-1)^{n+i-1}(i-1)!s(n, i-1) \tag{2.18}
\end{equation*}
$$

for $2 \leq i \leq n+1$. Substituting this into (2.6) and simplifying lead to (2.17).
Remark 2.1. The recursion (2.17) is called in [1, p. 101] the "triangular" relation which is the most basic recurrence. Corollary 2.4 recovers this triangular relation.
Remark 2.2. It is helps to include a table of concrete values of the coefficients $a_{n, i}$ for small $n$. See Table 1 . Basing on the data listed in Table 1, we conjecture that the sequence $a_{n, i}$ for $n \in \mathbb{N}$ and $2 \leq i \leq n+1$ is

| $a_{n, i}$ | $i=2$ | $i=3$ | $i=4$ | $i=5$ | $i=6$ |
| :---: | :---: | :---: | :---: | :---: | :---: |
| $n=1$ | 1 |  |  |  |  |
| $n=2$ | 1 ! | $2!$ |  |  |  |
| $n=3$ | $2!$ | 6 | 3 ! |  |  |
| $n=4$ | $3!$ | 22 | 36 | $4!$ |  |
| $n=5$ | $4!$ | 100 | 210 | 240 | 5 ! |
| $n=6$ | 5 ! | 548 | 1350 | 2040 | 1800 |
| $n=7$ | $6!$ | 3528 | 9744 | 17640 | 21000 |
| $n=8$ | 7! | 26136 | 78792 | 162456 | 235200 |
| $n=9$ | 8! | 219168 | 708744 | 1614816 | 2693880 |
| $n=10$ | $9!$ | 2053152 | 7036200 | 17368320 | 32319000 |
| $n=11$ | 10! | 21257280 | 76521456 | 201828000 | 410031600 |
| $a_{n, i}$ | $i=7$ | $i=8$ | $i=9$ | $i=10$ | $i=11$ |
| $n=6$ | $6!$ |  |  |  |  |
| $n=7$ | 15120 | 7! |  |  |  |
| $n=8$ | 231840 | 141120 | 8! |  |  |
| $n=9$ | 3265920 | 2751840 | 1451520 | 9 ! |  |
| $n=10$ | 45556560 | 47628000 | 35078400 | 16329600 | 10! |
| $n=11$ | 649479600 | 795175920 | 731808000 | 479001600 | 199584000 |

increasing with respect to $n$ while it is unimodal with respect to $i$.
Remark 2.3. The elementary method and idea in the proof of Theorem 2.1 has been employed in [10] to establish an explicit formula for computing the $n$-th derivatives of the tangent and cotangent functions. This explicit formula for the $n$-th derivative of the cotangent function has been applied in [12] to build the limit formulas for ratios of two polygamma functions at their singularities.

## 3. Explicit formula for Bernoulli numbers of the second kind

In this section, basing on Theorem 2.1, we establish a new and explicit formula for calculating Bernoulli numbers $b_{i}$ of the second kind for $i \in \mathbb{N}$.

Theorem 3.1. For $n \geq 2$, Bernoulli numbers $b_{n}$ of the second kind can be computed by

$$
\begin{equation*}
b_{n}=(-1)^{n} \frac{1}{n!}\left(\frac{1}{n+1}+\sum_{k=2}^{n} \frac{a_{n, k}-n a_{n-1, k}}{k!}\right) \tag{3.1}
\end{equation*}
$$

where $a_{n, k}$ are defined by (2.2) and (2.3).

Proof. Differentiating the left-hand side of (1.4) and making use of Theorem 2.1 give

$$
\begin{aligned}
{\left[\frac{x}{\ln (1+x)}\right]^{(i)} } & =x\left[\frac{1}{\ln (1+x)}\right]^{(i)}+i\left[\frac{1}{\ln (1+x)}\right]^{(i-1)} \\
& =\frac{(-1)^{i} x}{(1+x)^{i}} \sum_{k=2}^{i+1} \frac{a_{i, k}}{[\ln (1+x)]^{k}}+\frac{(-1)^{i-1} i}{(1+x)^{i-1}} \sum_{k=2}^{i} \frac{a_{i-1, k}}{[\ln (1+x)]^{k}} \\
& =\frac{(-1)^{i}}{(1+x)^{i}}\left\{x \sum_{k=2}^{i+1} \frac{a_{i, k}}{[\ln (1+x)]^{k}}-i(1+x) \sum_{k=2}^{i} \frac{a_{i-1, k}}{[\ln (1+x)]^{k}}\right\} \\
& =\frac{(-1)^{i}}{(1+x)^{i}} \frac{1}{[\ln (1+x)]^{i+1}}\left\{x \sum_{k=2}^{i+1} a_{i, k}[\ln (1+x)]^{i-k+1}-i(1+x) \sum_{k=2}^{i} a_{i-1, k}[\ln (1+x)]^{i-k+1}\right\}
\end{aligned}
$$

Applying L'Hôspital rule consecutively and by induction, we have

$$
\begin{aligned}
& \lim _{x \rightarrow 0} \frac{x \sum_{k=2}^{i+1} a_{i, k}[\ln (1+x)]^{i-k+1}-i(1+x) \sum_{k=2}^{i} a_{i-1, k}[\ln (1+x)]^{i-k+1}}{[\ln (1+x)]^{i+1}} \\
& =\lim _{u \rightarrow 0} \frac{\left(e^{u}-1\right) \sum_{k=2}^{i+1} a_{i, k} u^{i-k+1}-i e^{u} \sum_{k=2}^{i} a_{i-1, k} u^{i-k+1}}{u^{i+1}} \\
& =\lim _{u \rightarrow 0} \frac{a_{i, i+1}\left(e^{u}-1\right)-\sum_{k=2}^{i} a_{i, k} u^{i-k+1}+\sum_{k=2}^{i}\left(a_{i, k}-i a_{i-1, k}\right)\left(e^{u} u^{i-k+1}\right)}{u^{i+1}} \\
& =\frac{1}{(i+1)!} \lim _{u \rightarrow 0}\left[a_{i, i+1}\left(e^{u}-1\right)^{(i+1)}-\sum_{k=2}^{i} a_{i, k}\left(u^{i-k+1}\right)^{(i+1)}+\sum_{k=2}^{i}\left(a_{i, k}-i a_{i-1, k}\right)\left(e^{u} u^{i-k+1}\right)^{(i+1)}\right] \\
& =\frac{1}{(i+1)!} \lim _{u \rightarrow 0}\left[a_{i, i+1} e^{u}+\sum_{k=2}^{i}\left(a_{i, k}-i a_{i-1, k}\right)\left(e^{u} u^{i-k+1}\right)^{(i+1)}\right] \\
& =\frac{1}{(i+1)!}\left[a_{i, i+1}+\lim _{u \rightarrow 0} \sum_{k=2}^{i}\left(a_{i, k}-i a_{i-1, k}\right) \sum_{m=0}^{i+1}\binom{i+1}{m} e^{u}\left(u^{i-k+1}\right)^{(m)}\right] \\
& =\frac{1}{(i+1)!}\left[i!+\sum_{k=2}^{i}\left(a_{i, k}-i a_{i-1, k}\right)\binom{i+1}{i-k+1}(i-k+1)!\right] \\
& =\frac{1}{(i+1)!}\left[i!+\sum_{k=2}^{i}\left(a_{i, k}-i a_{i-1, k}\right) \frac{(i+1)!}{k!}\right] \\
& =\frac{1}{i+1}+\sum_{k=2}^{i} \frac{a_{i, k}-i a_{i-1, k}}{k!} .
\end{aligned}
$$

This means that

$$
\begin{equation*}
\lim _{t \rightarrow 0}\left[\frac{x}{\ln (1+x)}\right]^{(i)}=(-1)^{i}\left(\frac{1}{i+1}+\sum_{k=2}^{i} \frac{a_{i, k}-i a_{i-1, k}}{k!}\right) \tag{3.2}
\end{equation*}
$$

Differentiating the right-hand side of (1.4) and taking limit generate

$$
\begin{equation*}
\lim _{x \rightarrow 0}\left[\left(\sum_{n=0}^{\infty} b_{n} x^{n}\right)^{(i)}\right]=\lim _{x \rightarrow 0} \sum_{n=i}^{\infty} b_{n} \frac{n!}{(n-i)!} x^{n-i}=i!b_{i} \tag{3.3}
\end{equation*}
$$

Equating (3.2) and (3.3) leads to (3.1). The proof of Theorem 3.1 is complete.

Corollary 3.1. For $i \in \mathbb{N}$, we have

$$
\begin{equation*}
\left[\frac{x}{\ln (1+x)}\right]^{(i)}=\frac{(-1)^{i}}{(1+x)^{i}} \sum_{k=2}^{i+1} \frac{x a_{i, k}-i(1+x) a_{i-1, k}}{[\ln (1+x)]^{k}} \tag{3.4}
\end{equation*}
$$

and

$$
\begin{equation*}
\left[\frac{x}{\ln (1+x)}\right]^{(i)}=\frac{(-1)^{i}}{(1+x)^{i}} \sum_{k=1}^{i} \frac{(-1)^{i+k} k![x s(i, k)+i(1+x) s(i-1, k)]}{[\ln (1+x)]^{k+1}} \tag{3.5}
\end{equation*}
$$

where $a_{i-1, i+1}=0$ and $s(i-1, i)=0$.
Proof. The formula (3.4) can be deduced from the proof of Theorem 3.1. Substituting (2.18) into (3.4) and simplifying result in (3.5). The proof is complete.
Remark 3.1. The formula (3.5) is a recovery and reformulation of [7, (10), Lemma 2].

## 4. Integral representations of Stirling numbers of the first kind

In this section, we will find several identities and integral representations relating to Stirling numbers of the first kind $s(n, k)$.

Theorem 4.1. For $1 \leq k \leq n+1$, we have

$$
\begin{equation*}
\sum_{i=k-1}^{n}(-1)^{n+i} \frac{i!(i+1)!s(n, i)}{(i-k+1)!}=\int_{0}^{\infty} \frac{\Gamma(u+n)}{\Gamma(u)}\left[\sum_{\ell=0}^{k-1}(-1)^{\ell} c_{k, \ell} u^{k-\ell}\right] e^{-u} \mathrm{~d} u \tag{4.1}
\end{equation*}
$$

where $\Gamma(u)$ is the classical Euler gamma function which may be defined by

$$
\begin{equation*}
\Gamma(z)=\int_{0}^{\infty} t^{z-1} e^{-t} \mathrm{~d} t \tag{4.2}
\end{equation*}
$$

for $\mathfrak{R z}>0$ and

$$
\begin{equation*}
c_{k, \ell}=\binom{k}{\ell}\binom{k-1}{\ell} \ell! \tag{4.3}
\end{equation*}
$$

for all $0 \leq \ell \leq k-1$.
Proof. In [15], it was obtained that

$$
\begin{equation*}
\frac{1}{\ln (1+x)}=\int_{0}^{\infty} \frac{1}{(1+x)^{u}} \mathrm{~d} u, \quad x>0 . \tag{4.4}
\end{equation*}
$$

Utilizing this integral representation in (1.2) gives

$$
\int_{0}^{\infty} \frac{(-1)^{m} \Gamma(u+m)}{\Gamma(u)} \frac{1}{(1+t)^{u+m}} \mathrm{~d} u=\frac{1}{(1+t)^{m}} \sum_{i=0}^{m}(-1)^{i} i!\frac{s(m, i)}{[\ln (1+t)]^{i+1}}
$$

Simplifying this yields

$$
\begin{equation*}
\int_{0}^{\infty} \frac{\Gamma(u+m)}{\Gamma(u)} \frac{1}{(1+t)^{u}} \mathrm{~d} u=\sum_{i=0}^{m}(-1)^{m+i} i!\frac{s(m, i)}{[\ln (1+t)]^{i+1}} . \tag{4.5}
\end{equation*}
$$

Substituting $t$ for $\frac{1}{\ln (1+t)}$ in (4.5) brings out

$$
\begin{equation*}
\int_{0}^{\infty} \frac{\Gamma(u+m)}{\Gamma(u)} e^{-u / t} \mathrm{~d} u=\sum_{i=0}^{m}(-1)^{m+i} i!s(m, i) t^{i+1} \tag{4.6}
\end{equation*}
$$

Differentiating $1 \leq k \leq m+1$ times with respect to $t$ on both sides of (4.6) generates

$$
\int_{0}^{\infty} \frac{\Gamma(u+m)}{\Gamma(u)}\left(e^{-u / t}\right)^{(k)} \mathrm{d} u=\sum_{i=k-1}^{m}(-1)^{m+i} i!s(m, i) \frac{(i+1)!}{(i-k+1)!} t^{i-k+1}
$$

Further letting $t \rightarrow 1$ in the above equality produces

$$
\begin{equation*}
\sum_{i=k-1}^{m}(-1)^{m+i} i!s(m, i) \frac{(i+1)!}{(i-k+1)!}=\int_{0}^{\infty} \frac{\Gamma(u+m)}{\Gamma(u)} \lim _{t \rightarrow 1}\left[\left(e^{-u / t}\right)^{(k)}\right] \mathrm{d} u . \tag{4.7}
\end{equation*}
$$

In [13, 14, 16] and [17, Theorem 2.2], it was obtained that

$$
\begin{equation*}
\left(e^{-1 / t}\right)^{(i)}=\frac{1}{e^{1 / t} t^{2 i}} \sum_{k=0}^{i-1}(-1)^{k} c_{i, k} k^{k} \tag{4.8}
\end{equation*}
$$

for $i \in \mathbb{N}$ and $t \neq 0$, where $c_{i, k}$ is defined by (4.3). Combining this with

$$
\frac{\mathrm{d}^{i} f(u t)}{\mathrm{d} t^{i}}=u^{i} f^{(i)}(u t)
$$

turns out

$$
\left(e^{-u / t}\right)^{(k)}=\frac{u^{k}}{e^{u / t} t^{2 k}} \sum_{\ell=0}^{k-1}(-1)^{\ell} \frac{c_{k, \ell}}{u^{\ell}} t^{\ell}
$$

which tends to

$$
\frac{u^{k}}{e^{u}} \sum_{\ell=0}^{k-1}(-1)^{\ell} \frac{c_{k, \ell}}{u^{\ell}}=e^{-u} \sum_{\ell=0}^{k-1}(-1)^{\ell} c_{k, \ell} u^{k-\ell}
$$

as $t \rightarrow 1$. Substituting this into (4.7) builds (4.1). Theorem 4.1 is proved.
Theorem 4.2. For $1 \leq k \leq m+1$, we have

$$
\begin{align*}
& \left.\sum_{i=k-1}^{m} \frac{(-1)^{m+i} i!(i+1)!s(m, i)}{(i}-k+1\right)! \\
& \quad=m!\left\{\lim _{t \rightarrow 1} \frac{\mathrm{~d}^{k}}{\mathrm{~d} t^{k}}\left[\frac{e^{m / t}}{\left(e^{1 / t}-1\right)^{m+1}}\right]+\int_{1}^{\infty} \frac{1}{[\ln (u-1)]^{2}+\pi^{2}} \lim _{t \rightarrow 1} \frac{\mathrm{~d}^{k}}{\mathrm{~d} t^{k}}\left[\frac{e^{m / t}}{\left(e^{1 / t}-1+u\right)^{m+1}}\right] \mathrm{d} u\right\} \tag{4.9}
\end{align*}
$$

Proof. In [15], it was recited that

$$
\begin{equation*}
\frac{1}{\ln (1+z)}=\frac{1}{z}+\int_{1}^{\infty} \frac{1}{[\ln (t-1)]^{2}+\pi^{2}} \frac{\mathrm{~d} t}{z+t^{\prime}}, \quad z \in \mathbb{C} \backslash(-\infty, 0] \tag{4.10}
\end{equation*}
$$

Here we remark that this formula corrects an error appeared in the proof of [3, Theorem 1.3, p. 2130]. Therefore, by (1.2), it is easy to see that

$$
(-1)^{m} m!\left[\frac{1}{t^{m+1}}+\int_{1}^{\infty} \frac{1}{[\ln (u-1)]^{2}+\pi^{2}} \frac{\mathrm{~d} u}{(t+u)^{m+1}}\right]=\frac{1}{(1+t)^{m}} \sum_{i=0}^{m}(-1)^{i} i!\frac{s(m, i)}{[\ln (1+t)]^{i+1}}
$$

Further replacing $\frac{1}{\ln (1+t)}$ by $t$ and rearranging reduce to

$$
\sum_{i=0}^{m}(-1)^{m+i} i!s(m, i) t^{i+1}=m!\left[\frac{e^{m / t}}{\left(e^{1 / t}-1\right)^{m+1}}+\int_{1}^{\infty} \frac{1}{[\ln (u-1)]^{2}+\pi^{2}} \frac{e^{m / t} \mathrm{~d} u}{\left(e^{1 / t}-1+u\right)^{m+1}}\right]
$$

Differentiating $1 \leq k \leq m+1$ times with respect to $t$ on both sides of the above equation creates

$$
\begin{aligned}
& \sum_{i=k-1}^{m}(-1)^{m+i} i!s(m, i) \frac{(i+1)!}{(i-k+1)!} t^{i-k+1} \\
&=m!\left\{\frac{\mathrm{d}^{k}}{\mathrm{~d} t^{k}}\left[\frac{e^{m / t}}{\left(e^{1 / t}-1\right)^{m+1}}\right]+\int_{1}^{\infty} \frac{1}{[\ln (u-1)]^{2}+\pi^{2}} \frac{\mathrm{~d}^{k}}{\mathrm{~d} t^{k}}\left[\frac{e^{m / t}}{\left(e^{1 / t}-1+u\right)^{m+1}}\right] \mathrm{d} u\right\}
\end{aligned}
$$

Further letting $t \rightarrow 1$ leads to Theorem 4.2.
Remark 4.1. For some new results about Bernoulli and Stirling numbers of the first and second kinds, please refer to $[4,11,15]$ and closely related references therein.
Remark 4.2. This is a slightly modified version of the preprint [9] which has been referenced in [11, 16].

## References

[1] T. Agoh and K. Dilcher, Convolution identities for Stirling numbers of the first kind, Integers 10 (2010) 101-109.
[2] T. Agoh and K. Dilcher, Recurrence relations for Nörlund numbers and Bernoulli numbers of the second kind, Fibonacci Quart. 48 (2010) 4-12.
[3] C. Berg and H. L. Pedersen, A one-parameter family of Pick functions defined by the Gamma function and related to the volume of the unit ball in $n$-space, Proc. Amer. Math. Soc. 139 (6) (2011) 2121-2132; Available online at http://dx.doi.org/10.1090/ S0002-9939-2010-10636-6.
[4] B.-N. Guo and F. Qi, Some identities and an explicit formula for Bernoulli and Stirling numbers, J. Comput. Appl. Math. 255 (2014) 568-579; Available online at http://dx.doi.org/10.1016/j.cam.2013.06.020.
[5] F. Howard, Congruences and recurrences for Bernoulli numbers of higher order, Fibonacci Quart. 32 (1994) 316-328.
[6] C. Jordan, Calculus of Finite Differences, Chelsea, New York, 1965.
[7] H.-M. Liu, S.-H. Qi, and S.-Y. Ding, Some recurrence relations for Cauchy numbers of the first kind, J. Integer Seq. 13 (2010) Article 10.3.8.
[8] G. Nemes, An asymptotic expansion for the Bernoulli numbers of the second kind, J. Integer Seq. 14 (2011) Article 11.4.8.
[9] F. Qi, Explicit formulas for computing Bernoulli numbers of the second kind and Stirling numbers of the first kind, available online at http://arxiv.org/abs/1301.6845.
[10] F. Qi, Explicit formulas for the $n$-th derivatives of the tangent and cotangent functions, available online at http://arxiv.org/ abs/1202. 1205.
[11] F. Qi, Integral representations and properties of Stirling numbers of the first kind, J. Number Theory 133 (7) (2013) 2307-2319; Available online at http://dx.doi.org/10.1016/j.jnt.2012.12.015.
[12] F. Qi, Limit formulas for ratios between derivatives of the gamma and digamma functions at their singularities, Filomat 27 (4) (2013) 601-604; Available online at http://dx.doi.org/10.2298/FIL1304601Q.
[13] F. Qi and C. Berg, Complete monotonicity of a difference between the exponential and trigamma functions and properties related to a modified Bessel function, Mediterr. J. Math. 10 (4) (2013) 1685-1696; Available online at http://dx.doi.org/10.1007/ s00009-013-0272-2.
[14] F. Qi and S.-H. Wang, Complete monotonicity, completely monotonic degree, integral representations, and an inequality related to the exponential, trigamma, and modified Bessel functions, available online at http://arxiv.org/abs/1210. 2012.
[15] F. Qi and X.-J. Zhang, A Stieltjes function involving the logarithmic function and an application, available online at http: //arxiv.org/abs/1301.6425.
[16] X.-J. Zhang, Integral Representations, Properties, and Applications of Three Classes of Functions, Thesis supervised by Professor Feng Qi and submitted for the Master Degree of Science in Mathematics at Tianjin Polytechnic University in January 2013. (Chinese)
[17] X.-J. Zhang, F. Qi, and W.-H. Li, Properties of three functions relating to the exponential function and the existence of partitions of unity, Int. J. Open Probl. Comput. Sci. Math. 5 (3) (2012) 122-127.


[^0]:    2010 Mathematics Subject Classification. Primary 11B68; Secondary 05A10, 11B65, 11B73, 11B83, 26A24, 33B10
    Keywords. explicit formula, $n$-th derivative, reciprocal, logarithmic function, Bernoulli numbers of the second kind, Stirling number of the first kind, factorial, representation, recursion, integral representation, identity, induction

    Received: 16 April 2013; Accepted: 27 November 2013
    Communicated by Hari M. Srivastava
    Email address: qifeng618@gmail.com, qifeng618@hotmail.com, qifeng618@qq.com (Feng Qi)
    URL: http://qifeng618. wordpress.com (Feng Qi)

